Title: Fawn Hill Way Water Main Replacement in Antioch, CA (P.W. 503-17)

Bids to be received by 2:00 p.m. April 24, 2018 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

ltem No.	Unit	Quantity	Description	Unit Price Extended Amount
1.	LS	- 1	Mobilization, complete in place for the lump sum price	\$68,500 \$ 68,500
2.	LS	1	Traffic control, complete in place for the lump sum price	\$ 30,000 \$ 30,000
3,	LS	1	Water pollution control, complete in place for the lump sum price	\$7,500 \$ 7,500
4.	LS	1	Removal and abandonment of existing facilities, complete in place for the lump sum price	\$ 15,000 "\$ 15,000
5.	LF	1,200	New 8-inch C900 PVC water main, including valves and fittings, complete in place for the unit price per lineal foot	\$ 200 \$ 240,000
6.	LF	1,200	New 10-inch C900 PVC water main, including valves and fittings, complete in place for the unit price per lineal foot	\$-2100 \$252,000 a
7.	LF	1,700	New 12-inch C900 PVC water main, including valves and fittings, complete in place for the unit price per lineal foot	\$2,20 \$374,000
8.	EA	105	New 1-inch copper water service, complete in place for the unit price per each	\$2500 \$ 262,500
9.	EA	7	Remove and replace fire hydrant, including new 6- inch C900 hydrant stubs, valves and fittings, complete in place for unit price per each	\$9,000 \$ 63,000
10.	EA	5	Remove and replace 2" blow-off assembly, including 2-inch copper water line, complete in place for unit price per each	\$ (500° \$ 32,500°
11.	EA	7	Fire hydrant cathodic protection, complete in place for unit price per each	<u>\$ 850[™] \$ 5,950[™]</u>

ltem No.	Unit	Quantity	Description	Unit Price	Extended Amount
12.	EA	26	Valve cathodic protection, complete in place for unit price per each	\$ \OO. ^{&}	\$ 2,600
13.	EA	3	Elbow cathodic protection, complete in place for unit price per each	\$850	\$ 2,550
14.	EA	6	Tee cathodic protection, complete in place for unit price per each	\$800 ª	<u>\$ 4,800 ⁰⁰</u>
15.	EA	2	Cross cathodic protection, complete in place for unit price per each	\$1,100 ⁰⁰	\$ <u>2 200</u> °
16.	EA	105	Service cathodic protection, complete in place for unit price per each	\$27500	<u>\$ 28,875</u> °
17.	LS	1	Thermoplastic Traffic Stripes, Pavement Markers and Pavement Markings, complete in place for the lump sum price	\$ 4,150°	\$ 4,750°
			TOTAL BID PRICE	\$ 13916	725 00

TOTAL BID PRICE: One Million three hundred ninety (Written in Words) Seven nundred to sand Huendy dollars no

Cerds

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

R.J. Gordon Construction, Inc Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. E.E. Gilbert 2. Construction Inc	801481	155 Howe kd Martinez CA	Restoration 87
3.			
4.			
5.			
6.	ai		
7.			
8.			<i>r</i>
9.			
10.			
11.			
12.			
13.			
14.			
15.			

END LIST OF SUBCONTRACTORS

Title: Fawn Hill Way Water Main Replacement in Antioch, CA (P.W. 503-17)

Bids to be received by 2:00 p.m. April 24, 2018 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

ltem No.	Unit	Quantity	Description	Unit Price Extended Amount
1.	LS	1	Mobilization, complete in place for the lump sum price	\$110,000,00 \$ 110,000.00
2.	LS	1	Traffic control, complete in place for the lump sum price	\$86,750.00 \$ 86,750.00
3,	LS	1	Water pollution control, complete in place for the lump sum price	\$7,500.00 \$ 7,500.00
4.	LS	1	Removal and abandonment of existing facilities, complete in place for the lump sum price	\$15,000,00\$ 15,000,00
5.	LF	1,200	New 8-inch C900 PVC water main, including valves and fittings, complete in place for the unit price per lineal foot	\$ 175,00 \$ 210,000,00
6.	LF	1,200	New 10-inch C900 PVC water main, including valves and fittings, complete in place for the unit price per lineal foot	\$17500 \$210,000.00
7.	LF	1,700	New 12-inch C900 PVC water main, including valves and fittings, complete in place for the unit price per lineal foot	\$ 204.00 \$ 346.800,0
8.	EA	105	New 1-inch copper water service, complete in place for the unit price per each	\$2,500.00\$ 262,500.0
9.	EA	7	Remove and replace fire hydrant, including new 6- inch C900 hydrant stubs, valves and fittings, complete in place for unit price per each	\$7,900.00 \$ 55,300.00
10,	EA	5	Remove and replace 2" blow-off assembly, including 2-inch copper water line, complete in place for unit price per each	\$1,800.00 \$ 9,000.00
11.	EA	7	Fire hydrant cathodic protection, complete in place for unit price per each	\$ 800.00 \$ 5,600.00

ltem No.	Unit	Quantity	Description	Unit Price	Extended Amount
12.	EA	26	Valve cathodic protection, complete in place for unit price per each	\$1,300.00 \$	33,800.00
13.	EA	3	Elbow cathodic protection, complete in place for unit price per each	\$ 1,000.00 \$	
14.	EA	6	Tee cathodic protection, complete in place for unit price per each	\$ 1,000.00 \$	6,000.00
15.	EA	2	Cross cathodic protection, complete in place for unit price per each	\$1,000,00\$	5
16.	EA	105	Service cathodic protection, complete in place for unit price per each	\$ 300,00 \$	
17.	LS	1	Thermoplastic Traffic Stripes, Pavement Markers and Pavement Markings, complete in place for the lump sum price	\$ 4,000.00 \$	
			TOTAL BID PRICE	\$ 1,398.	······································

TOTAL BID PRICE: One million three hundred ninety eight thousand Seven hundred fift (Written in Words) dollars

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

SNY Signature of Bidder

Bradley E. Koeberer, CEO

Northern Pacific Corporation

Company Name Printed

P-16

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

	NAME OF SUBCONTRACTOR	LICENSE NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
	1. Harrison Concrete Cutting	764041	Woodland, CA	Sow coutting
	2.			
	3.			
	4.			
	5.			
	6.	3		
	7.	1		
	8.			_
0000	9.			
	10.			
8	11.			
	12.			
	13.			
	4.		ii.	
1	5.			

END LIST OF SUBCONTRACTORS

Title: Fawn Hill Way Water Main Replacement in Antioch, CA (P.W. 503-17)

Bids to be received by 2:00 p.m. April 24, 2018 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

ltem No.	Unit	Quantity	Description	Unit Price Extended Amount
1.	LS	1	Mobilization, complete in place for the lump sum price	<u>\$25,000. * \$25,000. *</u>
2.	LS	1	Traffic control, complete in place for the lump sum price	\$ 20,000 \$ 20,000.
3,	LS	1	Water pollution control, complete in place for the lump sum price	\$ 15,000. \$ 15,000.
4.	LS	1	Removal and abandonment of existing facilities, complete in place for the lump sum price	<u>\$75,000." \$75,000."</u>
5.	LF	1,200	New 8-inch C900 PVC water main, including valves and fittings, complete in place for the unit price per lineal foot	\$ 216. \$ 259,200.
6.	LF	1,200	New 10-inch C900 PVC water main, including valves and fittings, complete in place for the unit price per lineal foot	\$ 221.00 \$ 265,200.
7.	LF	1,700	New 12-inch C900 PVC water main, including valves and fittings, complete in place for the unit price per lineal foot	\$ 226. \$ 384,200.
8.	EA	105	New 1-inch copper water service, complete in place for the unit price per each	\$ 1747. * \$ 183, 435.
9.	EA	7	Remove and replace fire hydrant, including new 6- inch C900 hydrant stubs, valves and fittings, complete in place for unit price per each	\$ 13,000. \$ \$ 91,000.
10.	EA	-5	Remove and replace 2" blow-off assembly, including 2-inch copper water line, complete in place for unit price per each	\$ 5500. * \$ 27,500. "
11.	EA	7	Fire hydrant cathodic protection, complete in place for unit price per each	\$ 1260.°° \$ 8820.

ltem No.	Unit	Quantity	Description	Unit Price	Extended Amount
12.	EA	26	Valve cathodic protection, complete in place for unit price per each	\$ 1260.00	\$ 32, 760. ⁰
13.	EA	3	Elbow cathodic protection, complete in place for unit price per each	\$ 1760.00	\$ 3780.
14.	EA	6	Tee cathodic protection, complete in place for unit price per each	\$ 1260.00	\$ 7560.00
15.	EA	2	Cross cathodic protection, complete in place for unit price per each	\$ 1260.00	\$ 2520.00
16.	EA	105	Service cathodic protection, complete in place for unit price per each		\$ 27,300.°°
17.	LS	1	Thermoplastic Traffic Stripes, Pavement Markers and Pavement Markings, complete in place for the lump sum price	\$ 16,000.	\$ 16,000.
			TOTAL BID PRICE	\$ 1,444,	275/

One million Four hundred forty four thousand two hundred seventy (Written in Words) five TOTAL BID PRICE:

Q

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

wer Construction, The JW Back **Company Name Printed**

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. N P		MA	
2.			
3.	4		
4.			
5.			
6.	τ.	а 10	
7.		п. 	
8.			
9.			Ŀ
10.		Б	
11.			
12.			
13.		i.	
14.			
15.			

END LIST OF SUBCONTRACTORS